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I 46 :

(i) 3T FFT-YT H Fo726 F97 8 | G4 F97 AT E |

(ii)  Je9 T & 37 3G GHA R0 E |

(iii) 37 GEIT1 @7 T 37l TG~ J97 8 | J4% Jo71 37% FTE |

(iv) Fo7 G&I18 G 18 T I9% Y97 3 3% F1 8 | 578 & Y 97 &7 I 80 15l @
371 @7 7&T &1 13T |

(v) ¥ GEIT19 25 T T9% J97 5 3F 1 & | 579 @ I F97 &7 I/ 100 715 @
371 @7 7&7 &1 05T |

(vi) I GEIT 26 T @ TEIT 8 | 39% ¢ YT 8 26(A) 37 26(B) 1 26(A) 2 31% &7
gIAETT @ 7T 26(B) 3 3% BT YIIc7 & & | Frafad &7 397 qUf 817 T 38 3791 I -
GG & qrey 78 B |

(vii) O -9 8 faeheq 787 & | 1o oft % 7ol 7 37afer faebeq § | vd @t gel 7 @ 5w
G 3779 T &1 fabeq 57 BT E |

General Instructions :

(i)  The question paper has 26 questions in all. All questions are compulsory.

(ii) Marks are indicated against each question.

(iii) Questions from serial number 1 to 7 are Very Short Answer type Questions. Each
question carries one mark.

(iv) Questions from serial number 8 to 18 are 3 marks questions. Answers of these
questions should not exceed 80 words each.

(v)  Questions from serial number 19 to 25 are 5 marks questions. Answers of these
questions should not exceed 100 words each.

(vi) Question number 26 is a map question. It has two parts 26(A) and 26(B). 26(A) of
2 marks from History and 26(B) of 3 marks from Geography. After completion
attach the map inside your answer book.

(vii) There is no overall choice. However, internal choice has been provided in some
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questions. You have to attempt only one of the alternatives in all such-questions.
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T IS T TE B, Wicwh Il T EE R | HUA i fagetwur Hifery | 1

‘A challenge is not just any problem but an opportunity for progress.” Analyse the
statement.

3T o TR T HHTEAT ohT SHhL0T <hifolT | 1

Classity resources on the basis of origin.

U Hfetsh =’ = TehTerehi 3T Joeh fershaTat W qraifea @i amg ? 1
YT
IU=ATH SHHTHT <hT ITANT 1 ohld & ?

Why did the Roman Catholic Church impose control over publishers and booksellers ?
OR

Why do novels use vernacular ?

1885 H AT 3 AThaa ¢ shi Ffei H S8 FT g3 7 1
e

TR 3TN STORE SaTeq! H U G oh HIGER el hi 3T T@ FT HLd 7l I ?
e

1887 T foTamyet o Ush SeTdId HTfeieh e 9 3 38 Ug (T BR) § oied o JcTHIe
TSI T TECAT WM Faiefur & feha ?

Why were big European powers met in Berlin in 1885 ?
OR

Why were merchants from towns in Europe began to move countryside in seventeenth

and eighteenth centuries ?
OR

Why did Charles Booth, a Liverpool ship owner conduct the first social survey of low
skilled workers in the East End of London in 1887 ?
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5. 9 g9 WThideh HETEAT o1 STANT hich IEG3T 1 3G hid &, dl 9 TR i Tifafafemi
fopm 3mifiier &1k o 3TaPiq 3Tt @ ? 1

When we produce goods by exploiting natural resources, in which category of economic

sector such activities come ?

6. T (3RUT) o IR &k o his ol I8l ST | Vit lh=1

Give any two examples of informal sector of credit.

7. 31 & fcier foeprE & fordl @ 1edi o1 oot HifT | vi+l=1

State any two goals of development other than income.

8. MR Ty <hl ToTife o iU sl TR s aTet iF shiten] shi =ameat hIfST |

3x1=3

Explain the three factors that are crucial in deciding the outcome of politics of social

divisions.

9. I YRR I WTHH AT bl ATk THTE 3T Sferaemedt 99 o fIw 1992 # ‘9rRd™
gfgur’ 8 fory o gy o forgl o9 ararem Tt w1 gufa i | 3x1=3

Describe any three provisions of amendment made in ‘Indian Constitution’ in 1992 for

making ‘Three-Tier’ government more effective and powerful.

10. “ei-Fruerar o saferE! o1 aTida ol e framem 781 €, Wi I8 g o o el § ¥ uh
%I”%%ﬁwzﬁml 3x1=3

“Secularism is not an ideology of some political parties or persons, but it is one of the

foundations of our country.” Examine the statement.
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11.

12.

13.

14.

15.
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gTufterT w1 91 forehmd o foTu ford SopR Wt 2 7 SeTexvn fgd s Hife | 3x1=3

How is the issue of sustainability important for development ? Explain with examples.

<9 % T & foTu T 3Tt T 6 SR ol STavIh Fi g ? fohegl i RO 6

ST HIT | 3x1=3

Why is cheap and affordable credit important for the country’s development ? Explain

any three reasons.

TATfad 3R SIS &3 <hl T w1l § ST T HIFT | 3x1=3

Distinguish the service conditions of organized sector with that of unorganized sector.

TSR T 3907 § = b foTT ITMFarsTi § Seshdl 8 $elTs ST Hehdl & 7 foheal i adien!
! TS HITT | 3x1=3

How can consumer awareness be spread among consumers to avoid exploitation in the

market place ? Explain any three ways.

“Fer 3R T Iige &1 I R 3R U faem 3 qd-snfaa ® 17 s &
fergerwor <hifoT | 3x1=3

“Dense and efficient network of transport is a pre-requisite for local and national

development.” Analyse the statement.

5 [P.T.O.



16. 9T H eI <hl TGl g HE@AT oh SHRUT AT el TETEHT T el b Teh R &6 T & 7
T HIT | 3x1=3

How has the ever increasing number of industries in India made worse position by

exerting pressure on existing fresh water resources ? Explain.

17.  “‘“ggu Shifd’ 3 FEAT 3R TH & 39 T I Seerht arll i el seet & |7 e
ferzetwor hif | 3x1=3
YT
S JATTEeA 3TN IIEtTe sifve g shaeT: ToiRad “wTgs wve Ssyfed’ aum 99 SR’ Su=ma s
forar-aeg # et wrse Hifvw |
“The ‘Print Revolution’ had transformed the lives of people changing their relationship

to information and knowledge.” Analyse the statement.
OR

Distinguish between the themes of ‘Pride and Prejudice’ and ‘Jane Eyre’ novels written

by Jane Austen and Charlotte Bronte respectively.

18.  ‘F=tuee’ &1 1890 o <31k H ITHIeRT o ST shl TSIt 3T T 3rieqaee W I

JHTET T FUH HIT | 3x1=3
CLE

19t raTedt H YR TRt <hi fohgil <M @ THEISAT 3T 9 HIfT |
AYAT

194 STATE} o R Tie ol |-G i o foTu 33T U fohel ot shedl <hl aui HIfT |
Describe the impact of ‘Rinderpest’ on people’s livelihoods and local economy in
Africa in the 1890s.

OR

Describe any three major problems faced by Indian cotton weavers in nineteenth

century.
OR

Describe any three steps taken to clean up London during nineteenth century.
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19.

20.

21.

22.
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“sferd <hY ST TR AT o AT T AAlhaites aee feret off 3= smee yorreft | sreht

I |7 39 YA I ATETT SEUN | 5x1=5
3y

“ArehdTih I st nfd 3 TguTe 1 Sfiaq SiH o ATieht @ foIg Teer anfea

Bl 2 |7 39 U ! =ATTETd 3ETST |

“Democracy stands much superior to any other form of government in promoting
dignity and freedom of the individual.” Justify this statement.

OR

“Democracies lead to peaceful and harmonious life among citizens.” Justify this
statement.

foeeft s forg wepr fafirr St o SToTRY o1 CehieRtol oL @1 & 7 IereNun afed sare

AT | 5x1=5
COC |

B 3194 2k Stem H Aeliehtur & TwTel o1 fohd TehI 3w hid & 7 IeTetvll afd e

HIT |

How has foreign trade been integrating markets of different countries ? Explain with
examples.

OR

How do we feel the impact of globalization on our daily life ? Explain with examples.

Al B TSI gali o foheal Ue Tg@ 11 ST G0 SHIFT | 5x1=5

Describe any five major functions of political parties performed in a democracy.

AT H 1871 o STG SToeh &1 § o1 foepiess aitfeafam s aui Hife | 5x1=5
YT

T 3 SURTARTETE 3 foeg TS 6 forTe A fafir i T <61 e

IS |

Describe the explosive conditions prevailed in Balkans after 1871 in Europe.

OR

Describe the role of different religious groups in the development of anti-colonial
feelings in Vietnam.
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23, foreht Sor bt amies 3= fafemtor 3t o faerma & =it Wt STt @ 7 3eTeun afed S
it | 5x1=5

Why is the economic strength of a country measured by the development of

manufacturing industries ? Explain with examples.

24, ‘ITHEAN ATGeH fohd TehR wTEdl Wew ol Shi Tewdert o |t Il § Y[E g ? ek "
TR 3ok ST <h SATEAT I | 2+3=5

YT

HTIE, T § ufgenati sl foret oft mewaqul ug W e < ¥ F=i feaferardt W@t ¢ nfgemst
3 Tl 3ras STEe | TR SR Wit fore 7 T Hifr |
How did Non-Cooperation movement start with participation of middle class people in
the cities ? Explain its impact on the economic front.

OR

Why was Congress reluctant to allow women to hold any position of authority within
the organisation ? How did women participate in Civil Disobedience Movement ?
Explain.

25. “1980 & 1990 W% H WRA TN + Y IR % T 3T FEITTT a1 Wenfehr gami
I SEIATA i |7 56 HUA hl IR0 dled Gee FHifT | 5x1=5

AYAT
WA H J=eld T Siiteehl iy’ TR STTRIeh HiY’ i o1 i |

“The Government of India has introduced various institutional and technological
reforms to improve agriculture in the 1980s and 1990s.” Support this statement with

examples.
OR

Compare ‘intensive subsistence farming’ with that of ‘commercial farming’ practiced in

India.
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26.
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(A)

(B)

(A)

(B)

3 AT a 3R b U T qRA F TeiTe W@T-AHaE | 3ifhd fohw T | 39 @eqon
=1 Fefefga SRl 6 T8 ¥ qg=T 3T 3 el 9 I Hehe Tkl T8
T3t | fefgu 2x1=2

(a) T8 T STET YA TS I T ST g3 |
(b) 9% T STEl MeftSh A goll et weigll % et § weamwg o |

3t feu T vra % Terifoes War-amfas # frefafea = suged faet @ guse stk
3Ieh A TATET - 3x1=3
() T GrEH — A o -

(i)  WETerl — 8T T $ETl G

(i) Tfeat STt o1 |TFAR SHTeTSI UTeh

Two features a and b are marked on the given political outline map of India.

Identify these features with the help of the following information and write their

correct names on the lines marked near them :
(a) The place where the Indian National Congress Session was held.

(b) The place where Gandhiji organized ‘Satyagraha’ in favour of cotton mill

workers.

Locate and label the following with appropriate symbols on the same given

outline political map of India.
(1) Raja Sansi — International Airport
(i1)) Bhadravati — Iron and Steel Plant

(i) Software Technology Park of West Bengal

9 [P.T.O.



e : TrfaRaa wea hae gfeestiea wianfeR & fy T @ 26 F W WE: 5x1=5
() 38 TsT &1 fefay &t et B Weft i 9ol foramt 3 geamg T o |
(i) 39 TST 1 9 TARC Sraf Mefisft 3 70 i qie T |
(iil) 38 T 1 0 faRay St&t o= it STaisi gams-uoH fRua # |
(iv) 39 T 1 T fARay el gom gl vd serd 593 e 2 |
(v) 38T 1 A faRay Stet s sty o gas R B |

Note: The following questions are for the Visually Impaired candidates only in lieu
of Q. No. 26:

(1) Name the state where the Indigo planters organized Satyagraha.
(1)) Name the state where Gandhiji violated the Salt Law.

(ii1)) Name the state where Raja Sansi International Airport is located.
(iv) Name the state where Salem Iron and Steel Plant is located.

(v) Name the state where Narora Nuclear Power Plant is located.
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T 9. 26 % foTw AR
Map for Q. No. 26

WA T WT-HHE (TSHITeR)
Outline Map of India (Political)
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